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Stoichiometry Test Reviewsheet  
1. Define the following terms: 

a. stoichiometry  -

b. limiting reactant 
 -
c. excess reactant -
d. theoretical yield -
e. experimental yield -
f. percent yield- 
2. 

2 Na + Cl2 --> 2 NaCl

a. How many moles of chlorine (Cl2) would react with 5 moles of sodium (Na) according to the chemical equation above?
b. Using the equation above, determine the mass of product that can be produced from 24.7 g Na.
c. How many formula units of product would be made from 24.7 g Na?

3.  

2 C8H18 + 25 O2 --> 16 CO2 + 18 H2O
a. If 27.3 g of C8H18 are combusted, what mass of water will be produced?
b. How many molecules of CO2 will be produced, using the given quantity in part a?
c. What volume of CO2 gas is produced, using the given quantity in part a (assume STP conditions)?
4.  

2 KClO3 ---> 2 KCl + 3 O2
a. 1.50 grams of KClO3 decomposes. How many grams of O2 will be produced?
b. If 80.0 grams of O2 was produced, how many grams of KClO3 decomposed?
5. Consider the following reaction:  4 Al (s) + 3 O2 (g)  ------>  2 Al2O3 (s) 

a. If 0.90 mol Al is used, how many moles of Al2O3 are formed?
b. If 4.00 mol O2 is used, how many grams of Al2O3 are formed?
c. If 45.0 g Al are used, how many grams of Al2O3 are formed?

6. Consider the following reaction: 2 C3H6 + 9 O2   (   6 CO2  + 6 H2O

a. If you have 2.00 mol C3H6, how many liters of H2O gas are produced at STP?
b. If you have 200. g O2, how many molecules of C3H6 are used?
7. CO2 is removed from the atmosphere by trees and converted into cellulose. The basic reaction for this is: 

6 CO2 (g) + 5 H2O (l) → C6H10O5 (s) + 6 O2 (g)

a. How many grams of oxygen are produced by this process if you have 12.85 g of CO2? 
b. How many grams of cellulose (C6H10O5) are produced using the same conditions as in (a)? 

8. Copper metal reacts with a solution containing 20.0 g of silver nitrate to produce copper (II) nitrate and silver. 

Cu  +  2 AgNO3  →  2 Ag  +  Cu(NO3)2
a. Assuming that AgNO3 is the limiting reactant, what mass of silver metal is produced under these conditions?
b. How many grams of copper metal would be required to react with the 20.0 g of AgNO3?
c. How many formula units of Cu(NO3)2 are produced if 1.42 x 1026 atoms of copper are used?
9. Sodium reacts with water to produce sodium hydroxide and hydrogen gas. 

2 Na   +  2 H2​O   (   2 NaOH   +  H2
a. If sodium is the limiting reactant, which substance(s) will be present when the reaction stops?
b. What is the theoretical yield of sodium hydroxide if 25.0 g of sodium (limiting reactant) are used?
c. If the experimental yield for the reaction in part b is 37.2 g, what is the percent yield for the reaction? 
